
shirt = £7.90

Name:

What is the total cost of two milk shakes?1 £4.68

taco = £2.98

tie = £6.70 ice cream cone = £1.30

hot dog = £1.31 hamburger = £2.77

milk shake = £2.34 deluxe cheeseburger = £3.47

2 What is the total cost of a tie and a milk shake?£9.04

3 What is the total cost of two shirts, three tacos, and two 
ice cream cones?

£27.34

4 What is the total cost of a taco, a milk shake, a hamburger, 
and a shirt?

£15.99

5 What is the total cost of five hot dogs and two tacos?£12.51

6 What is the total cost of a taco and a hot dog?£4.29

7 What is the total cost of five shirts and two tacos?£45.46

8 What is the total cost of a milk shake and a hamburger?£5.11

9 What is the total cost of five shirts?£39.50

10 What is the total cost of an ice cream cone and a hot dog?£2.61

What did the 0 say to the 8?
    Nice belt! 


